AN KA G
S 4 FE TR B E
( HA,L FH. %)
TRAFERE | AN 3R AR IR
AN = YAN
=y 3] IX pal
A B A—B=C C/B
— il L 2 37,075, 000| 36, 897, 000 178, 000 0.5
B B R B 45 3 B o 57 B & F 13,423,443 12,836,438 587, 005 4.6
+ # B H % B = 3 118, 673 119, 003 A 330] A 0.3
Wwowm oA MOE O OB & F# 11 11 0 0.0
I S | B 11,938,920 11,288,410 650, 510 5.8
%M om oA E R R R & 3 2,403, 873 2,307, 077 96, 796 4.2
7K 8 * ¥ = B 3,417, 146 3, 968, 260 A 551,114] A 13.9
T 7K JE * * = B 5, 969, 320 6, 165, 882 A 196,562| A 3.2
& B 74, 346, 386| 73, 582, 081 764, 305 1.0
— il 4 2 37,075, 000| 36, 897, 000 178, 000 0.5
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(% A) ( B - T %)
& S04 SN 3 AERE PR RS
A A AR EE B Mt | A—B=C C/B
1o Bi| 11,593,281 31.3| 10,996, 891 29. 8 596, 390 5.
2 K #E 5 B 254, 400 0.7 243, 800 0.7 10, 600 4.
3R T H & & 15, 900 0.0 20, 700 0.1 A 4,800 A 23
O T D 101, 600 0.3 86, 900 0.2 14, 700 16.
R SV S T v e 96, 700 0.3 73, 000 0.2 23, 700 32.
6 ¥ N F ¥ B &N & 136, 700 0.4 85, 700 0.2 51, 000 59.
(O A = T < G N o A 2, 087, 200 5.6 2, 024, 600 5.5 62, 600 3.
8 =T o R BLA& AT & 20, 700 0.0 17, 700 0.1 3, 000 16.
9 B OB oM owe H K& 58, 100 0.2 48, 800 0.1 9, 300 19.
10 # 75 R B &£ & 85, 600 0.2 162, 800 0.4 A 77,200 A 47
1 5 & Bil 6,821,000 18. 4 6, 352, 000 17.2 469, 000 7.
12 %238 %2 42 5k 3R Bl &2 A 4 15, 000 0.0 15, 000 0.0 0 0.
B4 #aekC4a# e 194, 983 0.5 243, 962 0.7 A 48,979 A 20
4 fF B B &k O F OB 659, 334 1.8 640, 508 1.7 18, 826 2.
15 B X M 4| 6,956,629 18.8| 7,247, 408 19.7) A 290,779 A 4
16 Jff X H 4| 3,175,391 8.6| 3,163,658 8.6 11,733 0.
17 PE X A 335, 360 0.9 289, 207 0.8 46,153 16.
18 % 1) 4| 1,400,000 3.8 1,408,000 3.8 A 8,000 A0
19 % A & 654, 686 1.8 605, 512 1.6 49,174 8.
20 B 4 1,000 0.0 1,000 0.0 0 0.
21 § X A 463, 236 1.2 556, 754 1.5 A 93,518 A 16
22 ifi 5| 1,948,200 5.2| 2,613,100 7.1 A 664,900 A 25
ik A & F 37,075,000 100.0| 36,897,000 100.0 178, 000 0.
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A liipd:9 B it | A—B=C C/B
1 & =S # 292, 628 0.8 296, 909 0.8 A 4,281 A 1.
2 # % | 5,398,897 14.6| 4,774,221 12.9 624, 676 13.
3R A4 #| 17,201, 300 46.4| 17,562, 421 47.6| A 361,121 A 2
4 14 4 #| 3,554,780 9.6| 3,459,527 9.4 95, 253 2.
5 9 18 # 18, 059 0.0 17, 289 0.0 770 4.
6 #h ES # 424, 628 1.1 453, 345 1.2 A 28,717 A6
7 P T # 375, 749 1.0 319, 055 0.9 56, 694 17.
8 + PN #| 2,550,322 6.9 2,494,073 6.8 56, 249 2.
9 W %3] # 1,292,359 3.5| 1,281,525 3.5 10, 834 0.
10 # G #l 2,847,077 7.7\ 3,168,068 8.6| A 320,991 A 10
1% %HF & (S ¢ 44, 000 0.1 12, 000 0.0 32, 000 266.
12 A & #y 3, 025, 201 8.2 3, 008, 567 8.2 16, 634 0.
13 7 fii 2 50, 000 0.1 50, 000 0.1 0 0.
ik ik A F 37,075,000 100.0| 36,897,000 100.0 178, 000 0.
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A A AR EE B Mt | A—B=C C/B

I A (as & 5,990, 720 16.2 6, 067, 114 16.5 A 76,394 A 1.
2 9 (Gs #| 5,674,567 15.3| 5,505,814 14.9 168, 753 3.
3 M BOM & # 150, 391 0.4 259, 950 0.7 A 109,559 A 42
4 B #| 10, 444, 844 28.2| 10,655, 843 28.9] A 210,999 A 2
5 fifi ) # 3,272, 169 8.8| 3,332,528 9.0 A 60, 359 A1
6 F AV 4| 1,485,000 4.0 1,476, 401 4.0 8, 599 0.
TR B K OH&BE & 0 0.0 0 0.0 0 -
8 i 4 69, 875 0.2 90, 573 0.3 A 20,698 A 22
9 H H 4| 4,897,137 13.2| 4,876,637 13.2 20, 500 0.
10 2 & #| 3,025,191 8.2| 3,008,557 8.2 16, 634 0.
Wl & F O E OE 4 3,022, 191 8.2 3, 005, 557 8.2 16, 634 0.
@ — B #F A & 3,000 0.0 3, 000 0.0 0 0.
11 ¥ fii # 50, 000 0.1 50, 000 0.1 0 0.

/N 3+ 35,059, 894 94.6| 35,323,417 95.8] A 263,523 A0
12 B & @ F ¥ & 2,015, 106 5.4 1,573,583 4.2 441, 523 28.
W % @ B k| 1,971,106 5.3 1,561, 583 4.2 409, 523 26.
Ry@ %K F B H 44, 000 0.1 12, 000 0.0 32, 000 266.

& | 37,075,000] 100.0| 36,897,000 100.0 178, 000 0.




